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Up to now, only vector resonance (JPC = 1—=) production has been observed in electron positron annihilation, C even

resonances are only found in decay processes of vector resonances or in YY scattering processes. In principle, the direct

production of 1** states, like X.,, can also happen through two virtual photons exchange process, as shown in Fig. 1, this

has never be seen experimentally.
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A 4C Kkinematic fit with
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Black: error bar
Blue: data fitting results
Green: Phikk is the background and the
number of cases is NBkg1=98.0+12.2
Pink: 4K is background, and the
number of cases is NBkg2=15.4+6.6

Red dotted line: Number of signal
instances is Nsig=11.6+5.3
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Blue: data fitting results
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Pink: 4K is background, and the number of cases is
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Red dotted line: Number of signal instances is Nsig
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Next to do
8 2 4 2
> i , a=1+——, b=1+—
> = . — Compute the bron cross
- (- ) (- )+ ()

» Systematic uncertainty.




